
Kuadro Desk
TK2S
DESIGN
Pedrali R&D

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

TK2S179x140

Pedrali SpA - www.pedrali.it - info@pedrali.it Pedrali SpA - www.pedrali.it - info@pedrali.it 1/4

IS
TR

_K
UA

DR
O

-D
ES

K_
TK

2S
_2

02
3.

0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

4/4

IS
TR

_K
UA

DR
O

-D
ES

K_
TK

2S
_2

02
3.

0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

EN -        Turn the tops (1) upside down on and 
put it on a smooth, scratch-resistant surface at 
the distance indicated.
IT -          Capovolgere e appoggiare i ripiani (1) 
su una superficie liscia e antigraffio alla 
distanza indicata.
DE -         Drehen Sie den Deckel (1) auf den 
Kopf und legen Sie ihn im angegebenen 
Abstand auf eine glatte, kratzfeste Oberfläche.
FR -          Pretourner et placer les plateaux (1) 
sur une surface lisse et anti rayures à la 
distance indiquée. 
ES -           Girar y colocar los tableros (1) en 
una superficie lisa y antirayas a la distancia 
indicada.

EN - Fix the cable management (20) by means of the screws (21). 
IT -  Fissare la canalina (20) tramite le viti (21). 
DE -  Befestigen Sie die Kabelführung (20) mit Hilfe der Schrauben (21). 
FR -  Fixer le système de passage de câbles (20) à l'aide des vis (21). 
ES -  Fije las bandejas de electrificacion (20) mediante los tornillos (21). 

EN - Insert the divider panel (22) into the cable management.
IT -  Inserire il pannello separatore (22) nella canalina.
DE -  Setzen Sie die Trennwand (22) in die Kabelführung ein.
FR -   Insérer le panneau de séparation (22) dans le système 
de passage de câbles.
ES -   Inserte el panel divisor (22) en las bandejas de 
electrificacion.

EN - Mount the legs (2) to the crossbars (3) 
and (4). Place the crossbars on the tabletops 
and fasten with screws (5) and (6).        Only 
tighten the screws when the table is fully 
assembled.
IT - Montare le gambe (2) ai traversi (3) e (4). 
Posizionare le traverse sui ripiani e inserire le 
viti (5) e (6).        Serrare le viti solo a completo 
montaggio del tavolo.
DE -  Montieren Sie die Beine (2) an den 
Querstangen (3) und (4). Legen Sie die 
Querstreben auf die Tischplatten und 
befestigen Sie sie mit den Schrauben (5) und 
(6).        Ziehen Sie die Schrauben erst fest, 
wenn der Tisch vollständig montiert ist.
FR - Monter les pieds (2) sur les traverses (3) et 
(4). Placer les traverses sur les plateaux de 
table et les fixer à l'aide des vis (5) et (6).        
         Ne serrer les vis que lorsque la table est 
entièrement assemblée.
ES - Monte las patas (2) en los travesaños (3) y 
(4). Coloque los travesaños en los sobres de la 
mesa y fíjelos con los tornillos (5) y (6).  
         Apriete los tornillos sólo cuando la mesa 
esté completamente montada. M6X35

(x8)

M6X12
(x6)

5

6

62mm - 2
.4”

1

22

Optional DSP - DSP/2 Panel 
Opzionale DSP - DSP/2 pannello- Optionales DSP - DSP/2-Panel  - Panneau DSP - DSP/2 en option -
Panel DSP - DSP/2 opcional 

20

21
M6X12

(x16)

2

2
4

3

3

EN - Pre-mount the side covers (19) of the cable management (20). 
IT -  Premontare le coperture laterali (19) sulla canalina (20).
DE -  Montieren Sie die seitlichen Abdeckungen (19) des Kabelmanagements 
vor (20).
FR -  Prémonter les couvercles latéraux (19) de le système de passage de 
câbles (20). 
ES -  Monte previamente las tapas laterales (19) de las bandejas de 
electrificacion (20).

20

19

EN - Pre-mount the side covers (7) of the cable management (8). 
IT -  Premontare le coperture laterali (7) delle canaline (8).
DE -  Montieren Sie die seitlichen Abdeckungen (7) des 
Kabelmanagements vor (8).
FR -  Prémonter les couvercles latéraux (7) de le système de 
passage de câbles (8).
ES -  Monte previamente las tapas laterales (7) de las bandejas 
de electrificacion (8).

8
7



EN - Tighten with screws (14) and (15).        Only tighten the screws when the table is fully assembled.
IT - Inserire le viti (14) e (15).        Serrare le viti solo a completo montaggio del tavolo.
DE -  Mit den Schrauben (14) und (15) festziehen.         Ziehen Sie die Schrauben erst an, wenn der Tisch vollständig montiert ist.
FR - Serrer avec les vis (14) et (15).        Ne serrer les vis que lorsque la table est entièrement assemblée.
ES - Apriete con los tornillos (14) y (15).         Apriete los tornillos sólo cuando la mesa esté completamente montada.

TK2S340X140 

Pedrali SpA - www.pedrali.it - info@pedrali.it Pedrali SpA - www.pedrali.it - info@pedrali.it2/4

IS
TR

_K
UA

DR
O

-D
ES

K_
TK

2S
_2

02
3.

0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

3/4

IS
TR

_K
UA

DR
O

-D
ES

K_
TK

2S
_2

02
3.

0

Re
pr

od
uc

tio
n 

of
 th

is 
do

cu
m

en
t i

s s
tri

ct
ly 

pr
oh

ib
ite

d 
wi

th
ou

t p
rio

r w
rit

te
n 

au
th

or
isa

tio
n 

fro
m

 P
ed

ra
li 

Sp
a.

 S
ize

s, 
we

ig
ht

s a
nd

 fi
ni

sh
es

 m
ay

 c
ha

ng
e 

wi
th

ou
t p

re
vio

us
 n

ot
ic

e.
 

È 
vie

ta
ta

 la
 ri

pr
od

uz
io

ne
 d

el
 se

gu
en

te
 d

oc
um

en
to

 se
nz

a 
pr

ev
ia

 a
ut

or
izz

az
io

ne
 sc

rit
ta

 d
a 

pa
rt

e 
di

 P
ed

ra
li 

Sp
a.

 D
im

en
sio

ni
, p

es
i e

 fi
ni

tu
re

 p
os

so
no

 va
ria

re
 se

nz
a 

al
cu

n 
pr

ea
vv

iso
.

EN - Fix the centre leg (16) by means 
of screws (17) and (18) and complete 
tightening of the screws.
IT -  Fissare la gamba centrale (16) 
tramite le viti (17) e (18) e completare 
il serraggio delle viti.
DE -  Befestigen Sie den mittleren 
Schenkel (16) mit den Schrauben (17) 
und (18) und ziehen Sie die Schrauben 
vollständig an.
FR -  Fixer le pied central (16) à l'aide 
des vis (17) et (18) et serrer complète-
ment les vis.
ES -  Fije la pata central (16) mediante 
los tornillos (17) y (18) y apriete 
completamente los tornillos.

EN - Fix the cable management (8) 
by means of the screws (9). 
IT -  Fissare la canalina (8) tramite le 
viti (9). 
DE -  Befestigen Sie die 
Kabelführung (8) mit Hilfe der 
Schrauben (9). 
FR -  Fixer le système de passage de 
câbles (8) à l'aide des vis (9). 
ES -  Fije las bandejas de 
electrificacion (8) mediante los 
tornillos (9). 

EN - Mount the legs (11) to the crossbars (12) and (13). Position the crossbars on the table tops (10).
IT - Montare le gambe (11) ai traversi (12) e (13). Posizionare le traverse sui ripiani (10).
DE -  Befestigen Sie die Beine (11) an den Traversen (12) und (13). Positionieren Sie die Querstreben auf den Tischplatten (10).
FR - Monter les pieds (11) sur les traverses (12) et (13). Positionner les traverses sur les plateaux de table (10).
ES - Monte las patas (11) en los travesaños (12) y (13). Coloque los travesaños en los tableros de la mesa (10).

EN -        Turn the tops (10) upside down on and put it on a smooth, scratch-resistant surface at the distance indicated.
IT -          Capovolgere e appoggiare i ripiani (10) su una superficie liscia e antigraffio alla distanza indicata.
DE -         Drehen Sie den Deckel (10) auf den Kopf und legen Sie ihn im angegebenen Abstand auf eine glatte, kratzfeste Oberfläche.
FR -          Pretourner et placer les plateaux (10) sur une surface lisse et anti rayures à la distance indiquée. 
ES -           Girar y colocar los tableros (10) en una superficie lisa y antirayas a la distancia indicada.

62mm - 2
.4”

11

10

1113

12

12

16

M6X30
(x4)

18M6X12
(x4)

17

M6X12
(x12)

15

M6X35
(x8)

14

9

8

M6X12
(x8)


